
Test Bank Questions for Chapter 3

MULTIPLE CHOICE.  Circle the letter that provides the BEST answer for each question.  There is only one correct answer for each question.  
  1.  A reason why state and local governments have rebelled against federal unfunded mandates is because these regulations: 
   A. are expensive. 

   B. are not needed.
   C. sometimes have questionable benefits.
   D. are only needed in a few places.
   E. A and C
  2.  Which U.S. president was most responsible for setting aside national forests in the late 1800s and early 1900s?
   A.  Grover Cleveland
   B.  Benjamin Harrison
   C.  Abraham Lincoln
   D.  Herbert Hoover
   E.  Theodore Roosevelt
  3.  Founder of the Sierra Club, naturalist, and force behind the establishment of Yosemite and Sequoia national parks:
   A.  Aldo Leopold.
   B.  Henry David Thoreau.
   C.  John James Audubon.
   D.  John Muir. 

   E.  Theodore Roosevelt.
4.  An environmental impact statement MUST include:

   A.  an ethical analysis of the proposed action.

   B.  short- and long-term effects and any adverse environmental effects.

   C.  solutions to any potentially adverse environmental effects.

   D.  documentation of the financial cost-benefit analysis of the proposed action.

   E.  a description of the solution to any associated environmental controversy.

         5.  The study of how people use their limited resources to try to satisfy their unlimited wants is termed: 

   A. business analyses.
   B. model testing.
   C. hypotheses development.
   D. economics.
   E. resource management.
6.  In the field of economics, the additional cost associated with one more unit of something is called a(n): 
   A. marginal cost. 

   B. external cost. 

   C. direct cost. 

   D. fringe cost. 

   E. total product cost. 

7.  Which graph below represents the MARGINAL COST OF POLLUTION ABATEMENT? 
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8.  When consumption or production of a product has a harmful side effect that is borne by people not directly involved in the market exchange for that product, the side effect is called a(n):
   A.  marginal cost.

   B.  indirect cost.

   C.  additional cost.

   D.  intrinsic cost.

   E.  external cost

9.  Which of the following statements about old-growth forests is NOT true?

   A. Old-growth forests have been carefully logged and regrown so that they represent near-pristine habitat. 

   B.  Some trees in the old-growth forest may be 1000 years old or older.

   C.  Trees of various ages, from seedlings to mature giants, can be found in an old-growth forest.

   D.  Old-growth forests represent a very small fraction of the total forested area in the United States.

   E.  Old-growth forests are a stable forest ecosystem.

10.  The traditional Western worldview of the environment is characterized as:

   A.  being in harmony with nature.

   B.  being human-centered and utilitarian.

   C.  being free of today's technological advances.

   D.  having a religious respect for life.

   E.  believing all forms of life have an equal worth.

11.  The deep ecology worldview of the environment is characterized as:

   A.  being in harmony with nature.

   B.  being human-centered and utilitarian.

   C.  consuming many goods and services to provide material comforts.

   D.  having a religious respect for life.

   E.  A and D

